] Electrolux

ELECTROLUX HOME PRODUCTS PTY LTD

ABN 51 004 762 341

Issue: 2
Technical Publication N© CE234.doc Date: 3/07

WEB SITE ADDRESS: www.partnship.com.au

WESTINGHOUSE

ELECTRIC
UPRIGHT COOKERS
INTERGRATED

NOTE: THIS ISSUE SUPERSEDES ALL PREVIOUS ISSUES

/MODELS: A
PSN632S
PSN632W
PSN632W*32

. /

© Copyright 2007 ELECTROLUX HOME PRODUCTS PTY LTD Technical Services



VARIANT CHANGE SUMMARY

*32 | Replace standard knobs with Electrolux white knobs.

Page 2 CE234.doc

First Built Dates:

PSN632S

11/06

PSN632W

11/06

PSN632W*32 5/07




CONTENTS PAGE N°

FIRST BUILT DATES 2
CONTENTS 3
CHASSIS ASSEMBLY 4-5
FRONT FRAME ASSEMBLY 6
PANEL DECK ASSEMBLY

OVEN ASSEMBLY 8-9
GRILL ASSEMBLY 10
CONTROL PANEL ASSEMBLY 11
HOB ASSEMBLY 12
GRILL DOOR ASSEMBLY 13
OVEN DOOR ASSEMBLY 14
INTERNAL PACK 15
CIRCUIT DIAGRAM 16

NOTE: In Parts Listings N.L = Not lllustrated
N.P.A. = No Part Available
N.P.N. = Not Used on this Model

Page 3 CE234.doc




0402 001 120_121.doc

MODELS: PSN632S PSN632W EX. VIEW DRAWING 5953
PSN632W*32 CHASSIS ASSEMBLY

Page 4 CE234.doc



ITEM

PART N®

DESCRIPTION Ex 5953

—

0038 006 799

PANEL SIDE UPRIGHT S/S BIOS

0038 006 814

PANEL SIDE UPRIGHT BIOS MK2

0523 001 037

FOOT LEVELLING UPRIGHT

0022 041 156

PLATE ANTI TILT ASSY 540 BIOS

0489 001 158

BRACE LOWER ASSY 600SI

0030 024 227

BRACKET KICKPANEL MOUNT 6003l

—_ == INYINY

(O]

0038 002 724

PNL KICK ASSY 600FL S/S BIOS

_L_L_L_LN

0038 002 723

PNL KICK ASSY 600FL WH BIOS

~

0038 008 099

PANEL COVER WIRE SEP 600UP

0022 041 136

PLATE CVR TERM ELEC BIOS

|00

0701 009 033

SCREW #8 X 8MM HEX/MULTI

10

0489 001 154

BRACE REAR UPPER 600SlI

_L><_L_L

_L><_L_L_L

N.1.

0701 009 027

SCREW #8 X 1/2 MUSH #2PH AB BK

Page 5 CE234.doc



0402 001 120_121.doc
MODELS: PSN632S PSN632W EX. VIEW DRAWING 5952
PSN632W*32 FRONT FRAME ASSEMBLY

ITEM |PART N® DESCRIPTION Ex 5952 QTy

0545 002 711 | TRIM SURROUND C/PANEL 600SI
0081 009 950 |FRAME FRONT ENAM 600FL BIOS
0701 009 027 |SCREW #8 X 1/2 MUSH #2PH AB BK
0133 002 224 |COUNTER SUPPORT RH U/R BIOS
0523 001 040 |FOOT LEVELLING UPRIGHT

0133 002 223 |COUNTER SUPPORT LH U/R BIOS

DA [WIN|—
—_ N ===

Page 6 CE234.doc



0038 003 296.doc

MODELS: PSN632S PSN632W EX. VIEW DRAWING 5842
PSN632W*32 PANEL DECK ASSEMBLY

ITEM |PART N° DESCRIPTION Ex. 5842 QTY
1 10092 001210 |FLUE DUCT OVEN DUO BIOS 1
2 10038 003292 |PANEL DECKINTER ELEC BIOS 1
3 0541001250 |THERMAL CUTOUT 100 DEG N.O. 1
4 10701002113 |SCREW #6 X 9.5 PAN PHIL ZC 2
5 10541001232 |THERMAL CUTOUT 145 DEG N.C. 1
6 |REFERITEM 10|FAN IMPELLER COOLING BIOS-SGUB 1
7 10701 009 027 |SCREW #8 X 1/2 MUSH #2PH AB BK 3
8 10707 010031 |SPEED CLIP #8 8526/17/320 1
9 |REFERITEM 10 MOTOR FAN COOLING BIOS 1
10 |0257 001 034 |CANOPY & FAN ASSY (INCITEMSG®6, 8,10, 11 & 12| 1
11 19000660000 SCREW M4 X 15 PAN FLANGE BIOS 3
12 |REFERITEM 10|NUT HEX 0.7 X 4 1

Page 7 CE234.doc



0395 002 155.doc

MODELS: PSN632S PSN632W EX. VIEW DRAWING 5923
PSN632W*32 OVEN ASSEMBLY

Page 8 CE234.doc



ITEM |PART N° DESCRIPTION Ex. 5923 QTY
1 10208 003 452 |SEAL OVEN BIOS MK 2 1
2 10038 016 777 |PANEL FAN COVER ELEC ENAM BIOS 1
3 0395 002 088 |OVEN ENAM ELEC FAN BIOS 1
4 10122 004 541 |[ELEMENT FAN 2200W S/S309 1
5 389079304 |HOLDER LAMP ASSY BIOS 1

N.l.  |LM003 LAMP 25W SES E14 300°C CLEAR (PT OF ITEM 5)| 1
6 10125008 371 |CLIP THERMOSTAT BIOS 1
7 10374 005 197 |INSULATION OVEN WRAP ELEC BIOS 1
8 0374 005 198 |INSULATION OVEN BACK BIOS 1
9 0701 009 033 |SCREW #8 X 8MM HEX/MULTI X
10 |0489 001 147 BRACE OVEN REAR 600UP 1
11 0701 002 133 |SCREW #6 4.2X28 HILO PAN PH 2
12 10349 001 376 |SHIELD WIRING TERMINAL BIOS 1
13 0214 002 118 [MOTOR FAN OVEN - BIOS 1
14 10003 012 590 | BAR CONNECTOR W/EARTH BIOS 1
15 0026 001 042 |[FAN IMPELLER OVEN BIOS 1
16 ]0065 009 259 |NUT M6 L/H FAN MOTOR ECM 1
17 0701 009 027 |SCREW #8 X 1/2 MUSH #2PH AB BK 2

Page 9 CE234.doc




0488 001 387.doc

MODELS: PSN632S PSN632W EX. VIEW DRAWING 5857
PSN632W*32 GRILL ASSEMBLY

ITEM |PART N° DESCRIPTION Ex 5857 QTy
1 10125008 345 |CLIP ELEMENT MOUNT OC98/UC20 2
2 10012018 695 |SUPPORT ELEMENT GRILL BIOS 1
3 |0122 004 537 |[ELEMENT C/HEAT 1800W S/S321 1
4 10038 005 625 |PNL GRILL TOP SGUB ALUM BIOS 1
5 10374 005 229 |INSULATION GRILL SGUB BIOS 1
6 10589 001 037 |BUMPER STOP RUNNER 2
7 10488 001 394 |GRILL BOX ENAM SHALLOW BIOS 1
8 10701 009 033 |SCREW #8 X 8MM HEX/MULTI X
9 0559 001102 DUCT OVEN SGUB ASSY BIOS-ELECT 1
10 |0024 010 088 |SLIDE GRILL ASSY DOUBLE ACTION 2

Page 10 CE234.doc



0038 011 684_789.doc

MODELS: PSN632S
PSN632W*32

PSN632W EX. VIEW DRAWING 5926

CONTROL PANEL ASSEMBLY

ITEM |PART N® DESCRIPTION Ex 5926 S W W32
1 10038 011 683 |PNL CNT & CLIPS PSN632S BIOS 1
0255 003 654 |GLASS & CLIPS PSN632W BIOS 1 1
2 0022 041 102 |PLATE MTG SWITCH MULTI 7 BIOS 1 1 1
3 0019 008 096 | KNOB W/HOUSE S/S BIOS (INC ITEM 4) 7
0019 008 095 |KNOB W/HOUSE WHITE BIOS (INC ITEM 4) 7
0019 008 111 | KNOB W/HOUSE WHITE 7801 (INC ITEM 4) 7
4 129143982 CLIP KNOB (PT OF ITEM 3) 7 7 7
5 0150005 259 |SCREW M4 X 5 PAN #2PH SMALL HD 4 4 4
6 [0065 009 209 |NUT METRIC M10 X 0.75 5 5 5
7 10060 002 092 |LIGHT INDICAT BIOS 240V 200MM 3 3 3
8 0534 001 654 |SWITCH INF/HEAT MP-101-EA OC98 3 3 3
9 |0534 001 655 |[SWITCH INF/HEAT ISOLATED PILOT 1 1 1
10 |0534 001 684 |SWITCH INF/HEAT MDP-102-EA 1 1 1
12 10534 001 749 |SWITCH AUXILIARY BIOS 1 1 1
13 /0541 001 931 |[THERMOSTAT OVEN - EGO 1 1 1
14 10574 001 258 |TIMER 2HR CUTOFF PEAPSA 1 1 1
15 10701 009 035 |SCREW #8 X 38 PAN QUADREX 2 2 2
16 0271 001 309 |SPACER CONTROL PANEL BIOS 2 2 2
N.l. |0600 001 069 |LENS INDICATOR BIOS 3 3 3
N.l. /0696 003 467 |FILM C/P SPILL PROTECT PSN632W 1 1
N.l. {0400 005 086 |TAPE #503L 8MM X 560 X 0.8MM 1 1

Page 11 CE234.doc




0602 002 735_740.doc
MODELS: PSN632S PSN632W EX. VIEW DRAWING 5924
PSN632W*32 HOB ASSEMBLY

ITEM |PART N® DESCRIPTION Ex 5924 S

=

1 10602 002 734 |HOB & GLASS ASSY PSN632S 1
0602 002 739 |HOB & GLASS ASSY PSN632W

0038 016 826 |PANEL BASE WELD CERAMIC 600SI
389 0827 02 |ELEM CER 230 D 2200/750W (S/L)
389 070022 |ELEM CERAM 165 DIA 1200W (S/L)
389 0728 22 |[ELEM CERAM 215 DIA 2000W (S/L)
0125 008 346 |CLIP ELEM CERAM SECURING OC98
0701 002 113 |SCREW #6 X 9.5 PAN PHIL ZC

0060 002 079 |LIGHT HOTZONE INDICATOR

0701 009 027 |SCREW #8 X 1/2 MUSH #2PH AB BK

QO (N1~ |W|N
><_me_LN_L_L
><_me_LN_L_L_L

Page 12 CE234.doc



0009 006 747_732.doc

PSN632S
PSN632W*32

MODELS:

PSN632W

EX. VIEW DRAWING 5878

GRILL DOOR ASSEMBLY

ITEM |PART N® DESCRIPTION Ex 5878 S W
1 0050 010 721 |HANDLE CORE SS KY 1
0050 010 723 |HANDLE CORE WHT KY 1
2 10137 002 029 |INSULATOR HANDLE SELECT 2
3 0271 001 305 |SPACER HANDLE SCUB GLASS 2
4 10038 002 677 |PNL GR DR OUT S/S SGUB BIOS 1
0255 003 834 |GLASS GR DR OUT SGUB WHT BIOS 1
5 10271 001 289 |SPACER HANDLE SGUB S/S BRACKET 1
0271 001 288 |SPACER HANDLE SGUB GLASS KY 1
6 |0702 004 008 |SCREW 3/16X1/4 PN PH TRILOB GP 2
0702 004 009 |SCREW 3/16X12 PAN PH TRILOB GP 2
7 0374 005 214 |INSULATION GRILL DOOR 1 1
8 10188 002 271 |SEAL - GLASS GRILL DOOR SMALL 1 1
9 10038 001 870 |PNL IN GR DR SGUB ENAM BIOS 1 1
10 /0589 001 036 | BUMPER STOP MAGNET 2 2
11 10626 001 004 MAGNET GRILL DOOR 2 2
13 0701 003 073 |SCREW #8 X 5/8 CSK #2PH AB BK 2 2
12 10701 009 027 |SCREW #8 X 1/2 MUSH #2PH AB BK 6 6
14 10702 007 056 |SCREW #8 X 1/2 PAN #2PH TC BK 4 4
15 10024 010 088 |SLIDE GRILL ASSY DOUBLE ACTION 2 2
16 10030 024 220 |BRKT GR DR RUN SUPT ENAM 600UP 1 1
17 10708 001 060 |RIVET CHERRY 73 AS 6-3 2 2

Page 13 CE234.doc



0009 001 639_640.doc

MODELS: PSN632S
PSN632W*32

PSN632W EX. VIEW DRAWING 5529

OVEN DOOR ASSEMBLY

‘,‘er

3

ITEM | PART N® DESCRIPTION Ex 5529 W
1 0701 009 031 | SCREW #8 X 9/16 B/HD S/PT BKOX 2
2 0609 100 231 | PAN OV DR OUT ASS SS KY

0609 100 230 | PAN OV DR OUT ASS PRIM WH KY 1
3 0050 010 721 | HANDLE CORE SS KY

0050 010 723 | HANDLE CORE WHT KY 1
4 10137002 031 | INSULATOR HNDL GLASS 2
5 0271 001 313 | SPACER HANDLE S/S KYLIE DOORS

0271 001 304 | SPACER HANDLE GLASS DOORS 2
6 0702 004 015 | SCREW 3/16X14 PAN PH TRILOB ZY

0702 004 013 | SCREW 3/16X14 PAN PH TRILOB ZP 2
7 10038 001872 | PNL IN OV DR ASS LOW S/S WEST 1

Page 14 CE234.doc




0263 010 502_500.doc
MODELS: PSN632S PSN632W EX. VIEW DRAWING 5877
PSN632W*32 INTERNAL PACK

ITEM |PART N® DESCRIPTION Ex 5877 QTYy

0327 001 195 |RACK SHELF OVEN BIOS

0037 004 020 | TRAY SCONE NATURAL 012077
0327 001 201 |RACK SIDE SUPPORT OVEN BIOS
0036 001 108 |DISH GRILL ENAM SGUB BIOS

0028 025 393 |COVER GR DISH ENAM S/LESS BIOS

gD
==

ACCO014 SCRAPER CERAM GLASS
ACCO018 CERASEAL GLASS CT PROTECTOR X
ACCO019 CLEANER CERAMIC COOKTOP 250ML X

—

z|z|z

Page 15 CE234.doc



CIRCUIT DIAGRAM
0165-002-352

=
AN
™
©
2
o
o
AN
(2]
kd
=
[
™D
©
2
7
o

MODELS: PSN632S

VIL0VSO N3
¢5€-200-5910

LINN DNIDIAY3S
340439 43IMOd LI3INNDISIO

A0%7¢ 43ONVA

[EZ'111L 35NV 1D S3INY ONIYIM 000E SZN/SY Uk 100 1Y SSVd) 03IN008d N338 SVH 30NVY

341 ¥314V SLNIWITI FHL A8 0IBHOSAY INIFB IYUIHASOWLY IHL WOYS 3HNLSIOW A8 0ISNVI AT8VBOHd SI 11 'NOILYTIVLISNI
1V MD SIONIOV3H 3INVLISISIY 3HL 41 38NLIVINNYK H313¥ 1531 IINVLSISIY NOILVINSNI 3HL 035SV¥d SVH 10N00Hd SIHL

‘310N 3S¥371d HOLIIdSNI NOILY 1TV LSNI

I
]
I
\ AT
| AVIH 1HON 3LVd/H MO 3VIH 1HIN 3LV ;
\ 1NOY4/d 10H LR TR 10H A 10H INOH4/1 L1800
= i el
i 110H M
H0L0M Y0L10K
_ 1 O (680
! alliu Wi faz MOUBL  ONIIO0D N NIAD
| Y e’ q g HOIVION _zw_mﬂw
) g2 KO al T
1 N _ | .v|®r|+
= = 2 s l
| x x = = |
) i %:_uw,as
NIAD
I
! L!_ L.\_ a: N aor 1. _ ). ..
_ _ oM 1R (NS i R el
Li---}t-4-===-F~= e - - - -—F-=-----F - J 20014 ' 7! ) '
= e 18 .
N [1avo1 N T avol N avol (i av0l  HOLYDION £ Xt = L AVIS/L
UYW/H ' ' + NIAD
rﬁﬂ N 12d0 1id !

107%d 107d ¢
a f_

IFHQ

Fﬁg

135VHd

L35VHd

3SVHG

I5¥Hd

(V9'SZ) MML'9 = 1
(VO ZZ) MHE'S =11
M37LL =ONILVYY MY V101

e

0HLIND)

3

N

13S¥Hd
r=======-= hl
b5
- i 03HLEV3 38 L1SNW JONVY SIHL ONINEYM
nr oo WNWINIW DNILYY 3.5L 40 3782
HLIM 03L)3NNDJ 38 LN JONVY SIHL

WARNING
IT IS ILLEGAL FOR PERSONS OTHER THAN LICENSED ELECTRICAL MECHANICS OR PERSONS

AUTHORISED BY LEGISLATION TO WORK ON THE FIXED WIRING OF ANY ELECTRICAL

INSTALLATION. PENALTIES FOR CONVICTION ARE SEVERE.

IMPORTANT SAFETY NOTICE
This diagram has been prepared for use by electrically qualified service technicians. Electrolux

cannot be held responsible for the interpretation of its service publications nor for any injury or

damage that may occur in connection with their use.

Page 16 CE234.doc



